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���������� ������ ������ �� ������� ������ ����!"�  ���#� $ %�&�'*� ����+ ��,"�� ���- 
�.��� /�� ����0��
 ����1 
�.��� /�� �������� ����0�� ���#� $ 2�+�,�� ������ 34 5'6� 34 �7�"��� 28���� 9��"�� $28,35-27,5 GHz .

 ;<��� =&��� ������� ������ 2�>�? ���!"� �@�A4 34 �B?�8�� 
�� C�8�	2 �@�A4 34	 ���� 2 ;<��� 34 2DE� 2 . FGH@
�>�? ��>�� �+ ;<�I�� 1 J�0IK L�M	 ;<��� $ 2N'���� ���!"�� ;�7��� 1.  

,�*� ��BO �4PN�QG� �B����� �>�>N�8�� �*�  

   �����	
�	�
�� �   

R(  R"S� 8>��� T8U =V��,"�� ���- 
�.��� 2�>�? ��?��� $ %�&�'*� ����+  ��7WXD&1���8�1*�  
Y(   �R�� 8Z[� C��B���>N�8�� �*�,�G> �� 
�B1997 )WRC-97 ( %�&�'*� ����+ ��,"�� ���- ��\E�� ��7��8� �]�

 ^_��"�� $ ����0�� ���#� $47,5-47,2 GHz	 48,2-47,9 GHzX  
`(   �� �!�I�_ Y8��� /�� ��_��"�� �6 F�8aV =VR47 GHz 8���� ^����� F�A8B� 80KR ��S� $ bQ �?'��� ����7�� 

 ^I_8��737A.5	 543A.5 NN8��� 9��"� �1�'N b>8?R ��@ P�>�>N�8�� cd����� �� 32-18 GHz e�+ f8B��� ��V�S�4 g<7� 
� %��_ $ $�A4 h�W �>�>N�8�� �*�,�*(ITU-R)X  

N(   �� �!�I�_ Y8��� /�� ��_��"�� �6 F�8aV =VR47 GHz ��@ P����7�� iB� $ 8���� ^����� F�A8B� 80KR ��S� 
 jA	�� 8Z[� C��B�� �>�>N�8�� �*�,�G� 
�B2000 )WRC-2000 (,"�� ���- 
��.�1* F�7��8��� ���#� $ %�&�'*� ����+ 

��0�� ^_��"�� $ ��27,5k28,35 GHz	 31,3-31,0 GHz l7�� * f	8m $ ����7�� iB� $  �!�@ %��V6� $ F�'�A FG����
 ����#� L�� �� �>�n l���� *	 Po8�E�� p�,.��� ��M q8�6� ����#� 	R ����0�� ���#� �IaVR �� q8�6�  

) ��I_8��537A.5	 543A.5�>N�8�� cd��� �� (X  
�(  �R '�8��� 145 (WRC-03) ��?�+ 2'�,� l�W  r�8?4 �d����	 �1����� �d���	 ��"���� �d���� �+ ��1�'N

 ^_��"�� $ %�&�'*� ����+ ��,"�� ��\E� D>�B� ^�B� �?R �� ��I�a"���28,35-27,5 GHz	 31,3-31,0 GHzX  
	(   9��"�� �R28,35-27,5 GHz %s�� �������� ����0�� ���.�� )5'Rkr�H@ (Xt	R u�1R e�+  
s(   9��"�� $ 5'6� 34 %�&�'*� ����+ ��,"�� �� �*�1'4 �� ������� ������ ;d�8W N�U4 34 �+�� �?�v� �R

28,35-27,5 GHz� $ �������� ����0�� ���#� ����1 �G7���� $ P5'6� 34 �7�"��� 8����� '���  

  ����  

1  ���!"�� 
��.�1� �Sw =V�� ;<��� $ 2N'���� 1 34 %�&�'*� ����+ ��,"�� �� J�1'x� $ ������� q���� 8>���� 
 5'6�)������ ������ ( ����0�� ���#� $ 2�+�,�� ������ 34) 5'Rkr�H@  ( ����1 
��.�1�� �������� ����0�� ���#� $
28���� NN8��� 9��V $ 5'6� 34 �7�"��� 28,35-27,5 GHzX  
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2   ;<��� y�B� �R ��'�Nz� �Sw2 ����+ ��,"�� �� �*�1'z� ��{�"��� �|@�S�� �BE�� 2'���� �I�_ 8>���� ��>8W 
 %�&�'*�34 NN8��� 9��V $ 5'6� 28,35-27,5 GHz r�A�H�� 34 ������� �7�V $ �"�B� 2N�>s l7�� �R �}�~ �� /��	 

(I/N) 0�� ���#� ����1 �G7���� $5'6� 34 �7�"��� 8����� '���� $ �������� ���� .  

 23�&�1  

 ������� ��	
� � ����
� ������ �� ���	��� ������ ������  
�	����� ������ � !�"#$%� ����� ����&� ���' (	)�*# +��  

 �#��- (	)�*# +�� ���#�*�� ������� ��	)���,��*�  
 1����� � /$0� �� �.*����28,35-27,5  GHz  

1  ��	
�  

 ������� �IaVR $ %�&�'*� ����+ ��,"�� ���- 
�.��� /�� ����0�� ���#� �� ������� ������ ���!"� ;<��� ��� 
��>
8�����2 �7�"��� 34 9��"�� $ �������� ����0�� ���#� $ 5'6� 28,35-27,5 GHz . 2�+�,�� ������ $ 9��"�� ��� 
�.��>	

)5'R kr�H@ (����1 
�.��� /�� �������� ����0�� ���#� 
�aV $28���� 5'6� 34 �7�"���  .  

2   ���	
�� ���

� ������  

1.2  �	
��
� ���	� �	���� �	�� �	�� �� �������  

 �SE�� ^7>1 
�aV �� ������� ������ 58�&�� ���<��� `M�� HAPS5'6� 34 �7�"��� 8���� ���1 $  . 
�.���	  
 ��N�B��1 $ ������� 2'�_ q���� Y��v 1 MHz PI(g,h,b,r) ����+ �,"� ��- $ ���1 �� ����V ���{ �+ �~�"�� P

 5'6� 34 �7�"��� 8���� ���1 �!�7��1� P%�&�'*�(g): 

(1) dB(W/MHz))),,((),()),,(()(),,,( rghGhgFSLbhgGFbPrbhgI rx
S

tx
H

loss

H ϕ+−ϕ+−=  

g�{:  
   P

H
(b)  :   �18�� 2'�_�S� 1 MHz ((MHz/W)dB) �"+ ����  Cd���HAPS ���<�� (b)  

  FLoss   :    T�\�� 2'���(dB)  
   ),,( bhgϕ  :   ���I��� �>	�s(degrees) �"+ HAPS (h) ����+ �,"�� ��- �� ����V ���{ l>�,� 
��� ^� 

 %�&�'*�(b)�	 5'6� 34 �7�"��� 8����� ����� (g)   
  GH

tx)),,(( bhgϕ  :  d��� l�K �18�� C(dBi) %�&�'*� ����+ �,"�� ��� (h) C��d8�� '��� �+ f�8�� �>	��� 
��'����),,( bhgϕ  

    FSL(g,h)  :  2'��#� 8v� r���� $ (dB) 5'6� 34 �7�"��� 8����� ������ ^� (g) %�&�'*� ����+ �,"�� ��-	 P(h)  
    θ(h,g,r)      :  ��I��� �>	�s �)��?'����( 5'6� 34 �7�"��� 8����� ������ �"+ (g) ���"�� l>�,��� 
��� ^� 

 5'6� 34 �7�"��� 28���� �����1 ����� ���# ��B?8��(r) %�&�'*� ����+ �,"� ��-	 (h) P 8aV�
 �SE��2  

  GS
rx(θ(h,g,r))   :   �7����� Cd��� l�K(dBi) 5'�� �7�"��� 8����� ������ (g)C��d8�� '��� �+ f�8�� �>	���  

θ(h, g,r)  
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 �SE��1  
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���� �! �"#��	$ %��#� ��	& '  

  

  

  

  

  

  

  

  

  

  

  

  

  

 �SE��2  

 ����(&��)���� �! �"#��	$ %��#� ��	#� ��*+%,� ����-�   

  
1601-02

θ(h,g,r)    

HAPS

������� ��	
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������� �	�
��� ��
�

���� ������� 
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Z
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ϕ g,h,b)(
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 ���
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�� �
�

���� �� �������

HAPS (h)

� ��� ���������
!�"	�#� �$��� 

��%��$��& 

(b)

���� %'��

()*��� �

��� �
 ����

�	��� ����  

�!"� #$ �%�
��& (g) 

���� �� ������� ����� �	�+
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 �>	�s Y��v	 �7�"��� 8���� ���1 �"+ ���I���� 34�����<�� ��B?8� ���V �>�Q ^B�> P5'6 . ��B?8� ���"K '���	
5'6� c�1 e�+ ^B� j_�� . F�Id�N =?�� 5'�� �7�"��� 8����� ������ ����"�� ���v� Cd��� �>��� 
��� �R �d�"+ 58�&>

�7K8�� jA�� �+ 8a"�� i\� P��B?8�� ���"�� ��'���� $ ��d�H&��  . ��d8� D� ��B?8�� ���"�� �!�@ ��S� /�� �*�v� $	
 �� %�&�'*� �>	�s ��S� �R ��>8~ q8�R ���V 34 bK8Q �_ ��B?8�� ���"�� �R 58�&> P5'6� 34 �7�"��� 8����� ������

�� �I�_ �NR �"+ 5'6� 34 �7�"��� 8����� ������ . �SE�� ^7>	2� �� `M�I"�C1�" FG��~ J�0I�� ���"����B?8��  .  

 
�a"� C��\E� �>'�"�1 34 F�N�"�1�	HAPS ="� �Sw T��� J�1'4 %�&�'*� ����B�� �,"�� �� ��� ����{ ��?�� $ 2�>�+ 
�Sw %�&�'*� ����+ �,"�� ��� ������ ������ 2�>�B�� ����v� ��?��� �R 58�&> P����V ���{ �K ���K $ �?�� �R 

"+ J�7��1*� 9��V 58+�5'6� 34 �7�"��� 8����� ������  . 
�aV �� t�O*� ������� �+ yB>	HAPS ��8��� Isingle 
 ��&���� �@�0S�� %�I� 
'�7�+�� l��	I(g,h,b,r) �.��� �R �Sw %�&�'*� ����+ ��� �"SI�� ����"�� 
�v� j�I�
 �&V 

� e�+ NN8��� ��N�B�� $ ^7�� �<"�(2).  

(2)     

















==
= ∑∑

b

b

h

h

I

n
rb,h,g,I

n

single

1

10

1

log10 )/10(  

 g�{bn
  

	 PNN8��� �&V 
�.��� �R �Sw /�� ����"�� 
�v� N�+ 34 DE� hn %�&�'*� ����+ ��,"�� ���- N�+ 34 DE� 
 
�aV �!"� ��S�> /��HAPS �{�	 .  

 N8��	8>��� ������� q����  �,> T���� ���#� 34 �7�V 8>��� �Sw P�������� ����0�I/N t���� �<"�� e�+ :  
  60)(log10/ −−=−= satsinglesinglesingle TkININI (3)  

g�{ :  

              I/Nsingle:  �H�� 34 ������� �7�V r�A �>'�8v�(dB)  
   N :      2'�_   $ ������ �7���� �>'�8v� r�A�H��1 MHz (dB(W/MHz))  

  k:
    

 �������� b���(W/(K · Hz)) 

  Tsat :
    

 �������� ����0�� ���#� $ 5'6� 34 �7�"��� 8���� ����� 
�a"�� r�A�A 2'�8{ �?'N(K).  
 
�aV ��K �M4 �� �@8B� ������� �71�"� �7�B� Y���� t�Ox� ������� q���� �'��> L�M �B�HAPS F�'�A FG���� l7�> 

 ���#� $�������� ����0�� .  

2.2   �� �������	
��
 HAPS�����   
 �_� �E" �*�{!�@ l7�� �R �Sw� 2�+ �IaVR HAPS  ����{5'6� 34 �7�"��� 8���� ^B� ���1 $ FG���� . �+ yB>	

 �IaVR �� �~�"�� t�Ox� �������HAPS 2�>�+ �I����� Imultiple	 � �� ����� q���� �S� C�S�� %�I�� �� �7"�� �K
 
�aVHAPS $ �� ��������� ��N�B�� $ ^7�� �<"�� e�+ 5'6� 34 �7�"��� 8(4).  

(4)  dB(W/MHz)

1 1 1

10log10 10)/(















= = =
= ∑ ∑ ∑

n n n
rb,h,g,I

multiple

s

s

h

h

b

b

I   

 g�{snN�+ 34 DE�  �IaVR HAPS . �� ������� ���{ $ 
G+R 2'�K��� ��B�� �&V �!�@ ��N�B�� $ q8�6� N	�v� ��R 
%�&�'*� ����+ ��,"�� ���� ��{	 
�aV .  

_N ����� r�8?x	 2�>�+ ���- ���v ;� ��,"� �� 
�aV �K pd�,� �����v� $ 
�.��� �R C\7"> P%�&�'*� ����+
 �IaVRHAPS .�� �����B�� 
�� 8@��� 
�+ �"+	� ������� ��7>8�� �d��V e�+ J�,v� �Sw P�IaV6� 
�� �� 80KR	 �{

�� CB?8� 
�aV pd�,� 
��.�1�� ���"��HAPS�����v� $  .  
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N8��	 �I�_ ^�B� Imultiple ��N�B�� $ �!���.�1� �Sw P(3) �� F*�� Isingle� ������ ��������� ����0�� ���#� e�+ ������� D�.  

3.2  
����� 
����� ���� � ������  
34 �7�"��� 8���� ����� 2�+�,�� ������ $ %�&�'*� ����+ ��,"�� ���� ������ ������ �� ������� �,> $ 5'6� 

 �I�_ e,_R 34 �������� ����0�� ���#� J�1'4 $ ������ ������ J�1'z� q�,��� 2'���� �8~ 8@�� �"+ =�HAPS ���{ $ 	R 
8��� ���1 . 
�aV $ ������ ������ 2'�_ $ �S<��� 
��.�1� �"+	HAPS ������ ������ ����Ox� J�1'x� 2'�_ ��@ P

*� ����+ �,"� ����<,�� ��� f	8m �m $ i&."� �R �Sw %�&�' . $ ��� T��� ������� i&."> PL��� ����V	
�<,�� ��� f	8m �m $ �������� ����0�� ���.�� ��d�H&�� ���� .  

4.2  �!��"� ��	�#�  
� ���B&�� pd�,#� 
��.�1� ;<��� ��� $ 2N'���� ���!"�� ;7�� /�� ������� ��1�'�� C\7"> �IaV6	 �������� ����0�� ���.�

HAPS��8@��� �"+ �1�'��� ��_  .������� ����� 
��.�1� s�U Ppd�,#� 
�� 8@��� 
�+ ���{ $	 :  

1.4.2  �$�%�&'�(� 
���� ��$)"� ���* +,  
 ������� 8aV�IUT-R F.1569.  

2.4.2  
��'�-�� 
���.�� 
��/� ��0 +,�$�  
k  Tsat  :500 K.  
k  ���{ 58+ Cd���� )2D\,�� ���<I�� :(°0,3  
k   Cd���� ���{ 58+)�>�K8�� ���<I�� :(°2  
k  Cd���� l�K : �������ITU-R S.672 ;<��� P1 P1 (Ls = −20 dB).  

 �������1  

 �	
�
�1  

 �	
�� 
 ������� ������� ������ ����1  

1  ������� ��	
      
 
�aV �R 58�&�� ��HAPS  �� N�+ �� ��S�> ��,"�HAPS �SE�� $ ^7�� �<"�� e�+ ������� �{��� $ �IB> 3 .

��� $ ��B?8�� ���"�� C� �{���� �K8� $ �B_���� �,"�� ��S�	`M�I"��  �+s�� q8�6� ��,"�� j�O ��S�	 Y��<�� 
 Da"�� ���V	 ��B?8�� ���"�� �,> T��� �#� e�+ TN�I+ q���� e�+ ������� e�+ �� c�15'6� . ���"�� ��R �"+	

 ������{z� ��R ���"K ��B?8��y-x ��,"� �R 58�&> =V�@ Pq����� L�M e�+ HAPS ��S7~ ���V �K e�+ �+�A�� 
 �������{4 �{��� $(Lx, Ly)P (Lx – Ly)P (–Lx, Ly)P 	(–Lx,  –Ly) .�M4	 ��,"� N��+R �R F�H>R 58�@� HAPS  2N	�B�� e�+

 �>'���x	 y P� Cnx
   

	 ny  C�S�� N�B�� ��@ Pt����� e�+ ��,"I�� �1�'��� ��_ntP  c7,>nx × ny
  

) g�{nx
  

	 ny  ��N�+

                                                           

1
  ���� �����	
ITU-R S.672���
���	
 ����
 ���

�� ����� �����	
 �
���  . ������
 �
���
 ���� !"��#$�%	��& �&'( ) 

�����*	
 ��+�,	
 �&�-
 ���/& ����& 0��	 1	2$ ��
�3	
 �4�5
 .
�6�7
 89:$ ;�< =
;� 0>?�/�+ �@!�� =Ls
 

10− dB A�$ BC� 8& 
 �	�D�%	���
 �&'5
 .E��@!�� >?�/�# F"	
 =
;�
 8G ��7
!�	
 8& �#'�
 =
�CH 0'�#$.  
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��>N8@ .(�� 2'	����� %�&�'*� ����+ ��,"�� ���- ^� 2�+�7�� �@��� �+ yB> 8E"�� `M�I"�� ��� $	 dx 	 dy  �����
 �>'��� e�+x	 yPt����� e�+  . �+ yB>	dx

 

	 dy  ��2Lx/(Nx – 1) 	2Ly/(Ny – 1) t����� e�+ .  

 ������� =�@ ��<�1 T��� 5'6� 34 �7�"��� 8����� ������ �R F�H>R 58�&>	 j_�	 '��� 
��� $x Cd��� �R	 58�&�� 
��B?8�� ���"�� �� F�Id�N F�!?�� ��S> ������ . �>	���� f8B�	α �SE�� $ 4 %�&�'� �>	�s �}��  ��B?8�� ���"�� �"+ ������

 q����� �� �����y-x.  

 �� t�Ox� ������� ���>	 2'�_ N�+nT
  

 ��,"� ��HAPS r�A�H�� 2'�_ �7�V $ ��� T��� ������� g�{ ��  34
P2'���� I/NP  �7�"��� 8����� ������34 5'6�  %�&�'*� �>	��� ����Kα ����� �*�v P 8E"�� C�I"������ ����+ ��,"�� 

	 %�&�'*�#� pd�,� ���I"�������.  
 �SE��3  

�	�
��� ����
 ����  

 �SE��4  

���
��� ����� ������ ���� ��� ����  

  
1601-04

(LX, -LY)

dy(km)
y

x

(-LX, -LY) 

 

dX (km)
y

(LX, LY)

I?�&HAPS

���C��
 ���/	


���*& B��7 

 �%*/	�+J!�
 KH

L���!4
 �#$
Mα *	B�� 

���C��
 ���/	
 �/G ;�C�&

1601-03

���/	

���C��
 

�3N �D�*&HAPS 

 ���*& B��7  
 �%*/	�+J!�
 KH���*�
 B��*	 !
�&

 �%*/	�+J!�
 KH

2 LY km

(-LX, -LY) 
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2  ������� �	
�� ��
��� ���� ���
�  
 ������� $ N8�ITU-R F.1569 ��I�B�� ���I"���� ���- �IaV6  9��"�� $ %�&�'*� ����B�� ��,"28 GHz.  

 J	���1  
 ���
��� ����� ������ ���� !"��	(HAPS)  

�������  HAPS-1 HAPS-2 

 ������HAPS) ��	
��� �
���� ��� ((km) 20 20 

 ����e.i.r.p. ����� ����� � ������� ����� ����� �
� ������� 
!�"#� $%(1) 

 dBW 5& 

� '*�� +�
� 20 MHz 

 dBW 5& 

 '*�� +�
� �20 MHz 

 ������� ����� ,����� ,�
- �.� ��
�/ 012(2 Lx) (km)  1 000 600 

 ������� ����� ,����� ,�
- �.� ��
�/ 3��(2 Ly) (km) 1 000 600 

 �1�� 4"� ������� ����� ,����� ,�
- 5��(nx) x 11 9 

�� ,����� ,�
- 5�� �1�� 4"� ������� ���y (ny)  11 9 

 ������� ����� ,����� ,�
� 6���� 5�	��(nT) 121 81 

 �1�� 4"� ������� ����� ,����� ,�
- 78 �9�:��x (dx) (km) 100 75 

 �1�� 4"� ������� ����� ,����� ,�
- 78 �9�:��y (km) (dy) 100 75 

(1)    4"� ;1<�� !"�	�� =>1����397 ?@.�� � 7A�� ��
�� �/BC 3 ��D1<�� E/ ITU-R F.1569.  

3  ���� �� ����
�� ������ ����
� ���
�  
 J	��� $ N8�2  ��I�B� 5'6� 34 �7�"��� 8����� ������.  

 J	���2  
 #�$� %& �'(���) ���(�� �
�(�� !"��	(GSO)  

  
������� GSO-1 GSO-2 

G�H��� I�*1* J���C �
�5 (K) 500 500 

 !K�1L� �/BM ����� N�� �O<9 ),�
����8(  0,3 2 

!K�1P"� ����� Q��� �R1S (dB) 

)Ls
 

 � TO"�� 1 ��D1<�� E/ ITU-R S.672-4(  
20– 20– 

!K�1P"� J$�U�� V:W  (dBi) (1)  55.0 38.5 

(1)  G��X<S�8 �81:-  ��5�	��Gmax(dBi) = 44,5 – 20 log θ ) θ  =A8+ 9��VdBi 3-��?'���� (  

4  �����!� "���#  
 �GSE�� ^7>5	 6 ��_ I/N 5'6� 34 �7�"��� 8����� ������ ������ .  

 �I�_ �R ���!"�� �� cA�	I/N  ������ Cd��� 2	'��� l�K e�+ D7K �{ 34 �I�B� 5'6� 34 �7�"��� 8����� ������
�� 8������������ '�,� �� F�!?�� Cd���� ��S> ���"+ 5'6� 34 �7�"� . =� T��� Cd����@���A ���{ �<�@) °0,3 ( �7���>
 FG���� yKR ��S> ����d8�� ���v� ���N %�&�'*� ����+ ��,"�� ���- N�+ �6 ��B?8�� ���"�� %�&�'� �>�	s ��� ���"+

 ����B�� %�&�'*� �>�	s �"+ F�N	�-�H&."�� %�&�'*� �>�	s �"+ N�N�>	 .q8�R �!? ��	P T��� Cd���� ��@ � ��S �<�@ =�
 ���{ j1	R)°2 ( �}�S� �� �{ 34 ����� ��S� ������� �>�1 �6	 Cd���� l�K 5�&�� l7�� �_R FG���� �7���> N�S�
 C�\� 8E"�� �{��� ���K ����HAPS  �7�"��� �{ ��1�16� ���v� ���N����B�� %�&�'*� �>�	�� . ������� q���� �I�B>	
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������� 2'�~4 '�E�V� �@��� e�+ F�1�1R. �I�_ �R �d��"�� ^7� P�*�v� 
�� �7�"���	 I/N  5'6� 34 �7�"��� 8����� ������
�+ ��� k20 dB) %1 (g�{ �>N�B�� ��\E��� f	8m $ 5'6� 34 �7�"��� �>8����� ^������ �� �S� ���� �R 58�&> 

 ��7� %�&�'� �>�	s 5'6�°20������ �7�"��� 80KR 	R  .  

 �SE��5  
�� ���*�HAPS-1) 121 HAPS ,
��'- ��.�(/ 100 km(  

 �SE��6  
�� ���*�HAPS-2 )81 HAPS  ,
��'- ��.�(/75 km(  

  1601-06
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 ������� ��	
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 ������ ������ �����)��������(
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������� ��	
�� �

 ������ ������ �����) ��������(
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��

�� 
 

(d
B
)

 
 
 

I/
N

 
 


��
���

� �
��
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 �����2  

 ���	 
��
�������� ���� e.i.r.p ���� ��   
HAPS �� ����� � HAPS ������ � ���� !� 28,35 - 27,5 GHz"  

 � 
��#� $%�&' � (�)* +��I/N  
,����- $./)��� 0*�1��� �2,/)��  

��*���� 
)-�3�� 
�45� � ���� !�  

1  ������  

 �� ������	 
�� � 
�����	 
�	���	 �����I/N 	 ������	 � ������!��"#���	 ��$�%�	 ��� . &'�(	 )*�+�	,
 ���- � 
�	��"�������	�����	 /��� 0�1�2�	 &3	�4 �53', 6*	�7	 8�9 �� ��"#���	 ��$�%�	 ����	 �  .  

:;<,  ����� ���	
� �	����
 ��� �
��
�
e.i.r.p �� ������� HAPS �� ����
 � HAPS �� ��� !�
 "�#
 $% 
&'��( )*+, �-./ � �0.1� I/N "�#
 $% �*+0��2 �	
+3
 �
�3
 � �.4,�+�
 �
2���
 ���5
 6�*	
�
 780�.  

2  ����	
� ��
  

 &'��:�
 ;�+< =� �	����
 ��� � $>#
 &?�5
 �0.13
 @A�B?C�
 $% DE
�
�
 �*+F �I/N ����� � A�B?C�
 &��/ G.1
2 @
 � A�B?C�
 &��/6�*	
��
 ��8F3
  D�� "�
H1 MHz.  

  N = k T B (5)  

I.<:  
k :   ���:
�?2 K2�L(W/(K ⋅ Hz))  
T :   �.4,�+�
 �
2���
 ���5
 � 6�*	
��
 ��8F A�B?B &�
�< �M�'(K)  
B :   =1M�3
 N��0�
 "�O(MHz 1)  

 �-./ ���
+, @�.��
�
 &?�5
 �I/N  DE
�
�
 &��/ G.1
� �B�
H3
(dB(W/MHz)) .  

  I = N + I/N (6)  

 &��	�
 P��, ����� )+Q R�S �12(PFD)"�#
 $% �*+0��2 �	
+3
 D,�+�
 �
�� � "�
H3
 DE
�
�
 T
0, !�
  :  
  PFD = I – GR + 20 log ( f ) + 21,45                dB(W/(m

2
 ⋅ MHz)) (7)  

I.< :  
 :Gr  =41H�
 )+��
(dBi) �.4,�+�
 �
2���
 ���5
 6�*	
�
 =U
?V  ��W0� ���
 �HAPS �**+3
 

@DE
�
4�  
 :f 6���X
 ''�, (GHz).  

�?�, @�U�0O �-./ e.i.r.p �����% Y.Z �� �.��ZX
 HAPS � &��	�
 P��, ������ �-.	�
 ��� T
0, !�
 3
 �	
+3
 �
�
"�#
 $% �*+0��2 .  

  (e.i.r.p.)total = PFD +10 log(4π ⋅ d2)                dB(W/MHz) (8)  

 I.<d  �W0� G2 �
3�2 ���+3
 =�HAPS�.4,�+�
 �
2���
 ���5
 D,��>  .  
�[� ��*3
 I.< ��>:  

(9)  ∑
=

−=
n

j

total
i

1

)e.i.r.p.(1.0
10log10)e.i.r.p.(                 dB(W/MHz)  
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I.< :  
(e.i.r.p.) j:  e.i.r.p. ���� �� HAPS j-th  

    n:   ����� ���HAPS	
���
� ������  .  

��� ���� ��� ������� ����  

  (e.i.r.p.)average  = (e.i.r.p.)total – 10 log(n)                dB(W/MHz) (10)  

 �����!" �#�$ ��%� &'( )*+� �,-��e.i.r.p. ���� 	/ &� HAPS .  

3  ������� ��	
��� 
���� �� HAPS
������   

 �-8F� \**+, �/ ]��
 DE
�
�
 G.1, ���HAPS��
 ���5
 D,
?� � 	
+3
 �
�3
 � &'?M?3
 �.4,�+�
 �
2� $% �*+0��2 �
7./ �F��	^ "�#
 e.i.r.p. 6���% ��.U
?V =H45
> _F�`
 GWH�
 � HAPS 7.	2 e.i.r.p. �0.*3
 ;�+a
 �	��b �� ���0�
 

�cO�.  

 �������1 

 �	
�
�2  

 �	
�� 
 ������� ������� ������ ����2  

1  
����  
+a
 ]�� Pd43
 � �-e.�% ��f3
 �.4,�+�
 �
2���
 ���5
 =��8F g4O �0� �0.*3
 �.MS?-0�
 ��2�1 &�	H�
 2.4.2�cO�  .

 6�*	
�
 =U
?� @�.+.U� ��:��� ���h �� D*	
+� ]��
 ��80�
 ?�> G��80�
 �<� ���
+�> ��:< �d
H2°2)+�>    
39 dBi .i����� �� D*	
+� ]��
 @�Ej
 ��80�
 ������� D� � &'?M?� &klm G4-1
+� @ �� "�
H.�  �d
� \
�:<°0,3 

 \*+�>55,4 dBi . \.� A�B?C�
 &�
�< �M�' n4*, 6�*	
�
 ��8F \2 G��80�
 �� ��8F D� �� "�
H�>500 K �M�' =�> @
�.H0
�
 "
�o# �����Q p !�
 ���+a
 �c*	
+-4� �.4.�q �-.	� ��
, &�
�< .  

3
 
�� "�
H� �-8F# i.�� �fF '?M> 6��HAPS . ���< �>D,�+�
 �.4,�+�
 �
2���
 ���5
 � "�#
 $% �*+0��2 �	
+3
 
 ����/ =U
?� ��:< \� ]��
°2 �
��r% 6�*	
�
 "�
H� @ DE
�, ��W0� ��HAPS $% ��'�O DW� 100�W0� . 7
.�> 

� g-81�
 )+��
 �-./ ;�/ >� �0O �
��rX
 ��� s12 6�*	
�
 )+� �
S t�E� �
��r% D*	
+
�> @�.+.U��
 ��:d4
D/� . ��W0� �� �W0� D� �� �
��r% 6�*	
�
 7
.� \F� 6��3
 
�� "�
H�>HAPS  ��'�O n��*�
100 �W0�  )+� u�?
^

 �
�	^ D	� �.4,�+�
 �
2���
 ���5
 =U
?V1 dB n4*� )+�2 ]� @t?W	�
 \
-./ �O 38 dBi.  

,�� ���< =H� @D�3�2>�	
+� D \� �.4,�+�
 �
2���
 ���5
 � "�#
 $% �*+0��2 < �eB�O ��:°0,3 D/� v
'�O D,�+�
 tk� @
 ��W0� �� k��2HAPS ��:a
 "�O �e.� �?�, !�
 ���a�2 �F��	� °2 �/ '�O �� �4E
�
� �
��r% D*	
+
� \F� "�
H� @

 ��W0� wcL $% DW�HAPS+� ���?
+� �0O D*	
+
� �x�> @ ��W0� g4O �H4
y )HAPS  u�y g4O i/?
,=U
?V
 .
 ��W0� �� �.,j
 �
��rX
 �� &��r% D� 6�*	
�
 �� 6��3
 
�� "�
H�>HAPS   wc��
 =U
?V )+� u�?
^ 7
� z?�

 �
�	^ D	� �.4,�+�
 �
2���
 ���5
1 dB n4*� )+�2 ]� @t?W	�
 \
-./ �O 54,4 dBi.  

 �
�� G2 ���+3
 �E{,> �W0� ;�/�> "�#
 $% �*+0��2 &�	
+3
 D,
?+�
HAPS &�	
+3
 D,
?+�
 �
�� |�H,�
 ����*
O�2 
 n��*�
 ?41�
> "�#
 $% �*+0��220 km ��W03 HAPS (35 788 - 20 = 35 768 km) .  
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2   ������� 
��� 
��� ��� 
������� 
�!�"�� 
��#�� 
	�$%� 
�& '�� ( �������°2  


 iWF �d
���:d4� &��	� :°2,0  
D,�+�
 =U
?� )+� &>�S :39 dBi  

 ��W0� Y.Z �� 6�*	
��
 =U
?� )+� u�?
�HAPS�4E
�
3
  :dBi 38 = 1 - 39  
 ��W03 "�
H3
 '�1�
HAPS ���
�	� ��:< �d
� '>�< � �4E
�
3
 °2 :100 

6�*	
��
 ��8F A�B?B &�
�< �M�' :500 K  
=1M�3
 N��0�
 "�O :1 MHz  

6�*	
��
 ��8F A�B?B &��/ �?�, R��2> :  
  N = k T B = –228,6 + 10 log(500) + 10 log(10

6
) = –141.61                dB(W/MHz) (11)  

>2 =� 6��3
 
�� � DE
�
�
 &��/ �� "�H%1 �[� @A�B?C�
 &��/ �� I/N  �?�,dB 20- =10 log (0,01) .}*W,>:  

  I = N + I/N = –141,61 – 20 = –161,61                dB(W/MHz) (12)  

 &��	�
 P��, ����� }*W, ~ ��>(PDF) !�
  T
0
� DE
�
�
 &��/ ����
�3
 �0O :  

  PFD = (–161,61 – 38 + 29 + 21,45) = – 149,2                dB(W/(m
2
 ⋅ MHz)) (13)  

}*W, �U�0O:  

  (e.i.r.p.)total = –149,2 + 162,1 = 12,92                dB(W/MHz). 

 �.��ZX
 DE
�
�
 &��/ K-+/ 
S%> ��� g4O100 �W0� HAPS  �W
	.� �e0� D� ).WF g4O  
12,92 – 10(log 100) = 12,92 – 20 = –7,08 dB(W/MHz).  

3   ��)* +	���� '�� ( ������� ������� 
��� 
��� �, -�� 
������� 
�!�"�� 
��.� ( /��0��1�°0,3  
��:d4� &��	�
 iWF �d
� :°0,3  

D,�+�
 =U
?� )+� &>�S :55,4 dBi  
 ��W0� Y.Z �� 6�*	
��
 =U
?� )+� u�?
�HAPS�4E
�
3
  :dBi 54,4 = 1 - 55,4  

 ��W03 "�
H3
 '�1�
HAPS ���
�	� ��:< �d
� '>�< � �4E
�
3
 °0,3 :3   

6�*	
��
 ��8F A�B?B &�
�< �M�' :500 K  
�
 "�O=1M�3
 N��0 :1 MHz  

 @6�*	
��
 ��8F A�B?B &��/ �[� @�cO� &�	H�
 �
�o g4O> @~ ��>N= -141,61 dB(W/MHz)  
t?W	�
 DE
�
�
 &��/ �?�,>@ I= -161,61 dB (W/MHz)  


 P��, ����� }*W,>DE
�
�
 R�S &��	� �**+3
 &��	�:  

  PFD = (–161,61 – 54,4 + 29 + 21,45) = – 165,6                dB(W/(m
2
 ⋅ MHz)) (14)  

�?�, R�S g4O>:  

  (e.i.r.p.)total = –165,6 + 162,1 = –3,5                dB(W/MHz) 

 g4O ��� �.��ZX
 DE
�
�
 &��/ K-+/ 
S%>3 ��W0� HAPSg4O �W
	.� �e0� �W0� D� ).WF �[� @  
 –3,5 – 10(log 3) = –3,5 – 4,77 = – 8,27 dB(W/MHz).  
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4  
���� �� ������� ��	
���HAPS
��2   

 �� ��2�V
 �4m?�
 �����X =H45
> _F�`
 GWH�
 �� DE
�, gW/� ;�+< ���HAPS  �0O28 GHz  ��8F ��-41� ��
HAPS �.m?
�
 � &'�
?�
 ITU-R F.1569.  

 �W0� D��� ��E &��/ n4*,HAPS|�H,�
 ��>
( \�> G4-1
+3
 i����� ���5 7-W� @ �v�B�H�
 DW,   
 $%°26 @��3
 z>�� � @1,8 dBW\B�O N��F � @ 150 MHz ���l, �4m> &��+E> @  
 ����/0,5 dB )+�2 =U
?�> @16,4 dBi. > �H+� R�S �-./ �Oe.i.r.p. ���
�	� t?W/ 17,7 dBW D�� 150 MHz.   

>�17,7–10 log 150 = (17,7 – 21,7) = −4 dB(W/MHz).  


 )+� �-./ �� ko �
�	^ D	
� =H45
 �H�
> �.1*�
 )F�`
 ���
 � =U
?V10 dB �O D/#
 g4O   
=<�0
3
 )+��
 �-./(istropic gain)  . �-./ }*W, @R�S g4O>e.i.r.p �W03 HAPS"�#
 $% �*+0��2 �	
+3
 �
�3
 ����2    

(–4 – 16,4 –10) = –30,4 dB(W/MHz).  

� ��'�
?�
 G���3
 � G-+	�
 2> 3 �-./ D	, @�cO� e.i.r.p���03
 ���?
+3
 �O v
k�� "�#
 $% �*+0��2 �	
+3
 �
�3
 ����2 & 
 �� �����X
 t'
�� ��HAPS �l��*�
 "�#
 $% dB(W/MHz) 7,08–>� dB(W/MHz) 8,27– �-./ �O �H+, !�
> @I/N 

 �O D	,%1�
 �.4,�+�
 �
2���
 ���5
 D,
?� �  ��:< �V ! =U
?� n4*,°2,0>�  °0,3.  

  

_____________________ 


